
CHEMISTRY

FOR IIT JEE ASPIRANTS OF CLASS 12 FOR

CHEMISTRY

METALLURGY

Example

1. All ores are minerals while all minerals are not ores

because :

A. minerals are complex compounds

B. the minerals are obtained from mines

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Tw5zYeAzp27J


C. the metal cannot be extracted economically from all

the minerals

D. all of the above are correct

Answer:

Watch Video Solution

2. Froth floatation process is used for the concentration of

the ore of :

A. difference in specific gravity of ore and Gangue

particles

B. electrical conductivity of ore particles

https://dl.doubtnut.com/l/_Tw5zYeAzp27J
https://dl.doubtnut.com/l/_rwwjKio0sxa7


C. partial solubility

D. difference in melting points of ore and gangue

particles

Answer:

Watch Video Solution

3. Bauxite ore is concentrated by

A. 

B. CO

C. 

D. 

CO2

SO2

H2O

https://dl.doubtnut.com/l/_rwwjKio0sxa7
https://dl.doubtnut.com/l/_alwK3oQltff4


Answer:

Watch Video Solution

4. The ore having two different metal atoms is

A. haematite

B. galena

C. magnetite

D. copper pyrites

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_alwK3oQltff4
https://dl.doubtnut.com/l/_SiB4niBQe9eD
https://dl.doubtnut.com/l/_rWCefSLUMeEg


5. Metal which can be extracted from all three dolomite,

magnesite and caranallite is

A. Na

B. K

C. Mg

D. Ca

Answer:

Watch Video Solution

6. Cyanide process is used for the extraction of :

A. Au

https://dl.doubtnut.com/l/_rWCefSLUMeEg
https://dl.doubtnut.com/l/_Ax7sJ0YWUrED


B. Cu

C. Ag

D. Both (1) and (3)

Answer:

Watch Video Solution

7. Mond's process is used for the purification of

A. Ni

B. Ti

C. Zr

D. Hg

https://dl.doubtnut.com/l/_Ax7sJ0YWUrED
https://dl.doubtnut.com/l/_SF3nYDUT4P38


Answer:

Watch Video Solution

8. The smelting of iron in a blast furance involves all the

steps except

A. it produces high temperature

B. t provides different temperature zones proceeded for

different reactions

C. it separates the metal from slag easily

D. its height is large

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SF3nYDUT4P38
https://dl.doubtnut.com/l/_c7aYQpwNLOZL


Watch Video Solution

9. Which one of the following is not a sulphide ore ?

A. copper glance

B. malachite green

C. cuprite

D. Azurite

Answer: A

Watch Video Solution

10. Which of the following is an oxide ore ?

https://dl.doubtnut.com/l/_c7aYQpwNLOZL
https://dl.doubtnut.com/l/_S47kcmR9jSm8
https://dl.doubtnut.com/l/_v6lssKGRmuJI


Evaluate Yourself 1

A. Calamine

B. Zinc blende

C. Zincite

D. Willemite

Answer: C

Watch Video Solution

1. A naturally occurring substance from which a metal can

be profitably extracted is known as

A. ores

https://dl.doubtnut.com/l/_v6lssKGRmuJI
https://dl.doubtnut.com/l/_VpEw8xmZ0HFW


B. mineral

C. salts

D. gangue

Answer: A

Watch Video Solution

2. Cryolite is:

A. sodium borofluoride

B. magnesium silicate

C. aluminium

D. sodium aluminium fluoride

https://dl.doubtnut.com/l/_VpEw8xmZ0HFW
https://dl.doubtnut.com/l/_NaSf6EMvx64P


Answer: D

Watch Video Solution

3. The process of heating the ore strongly in excess of air

so that the volatile impurities are removed and the ore is

changed to oxide is known as

A. leaching

B. roasting

C. calcination

D. froth floatation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NaSf6EMvx64P
https://dl.doubtnut.com/l/_Y8m4ExiKpjQH


4. Among the following, the incorrect statement is :

A. argentite and cuprite are oxide ares

B. calamine and azurite are carbonates

C. zinc blende and pyrites are sulphides

D. malachite and azurite are minerals of copper

Answer: A

Watch Video Solution

5. Which of the following is magnetite ?

A. FeCO3

https://dl.doubtnut.com/l/_Y8m4ExiKpjQH
https://dl.doubtnut.com/l/_ERGXdIn13QeF
https://dl.doubtnut.com/l/_dwn6UvlrcamG


B. 

C. 

D. 

Answer: C

Watch Video Solution

Fe2O3

Fe3O4

Fe2O3, 3H2O

6. The chief constituent and impurity of the gemstone

'Ruby' respectively are

A. 

B. 

C. 

Al2O3, Cu

Al2O3, Cr

CrO3, Cu

https://dl.doubtnut.com/l/_dwn6UvlrcamG
https://dl.doubtnut.com/l/_LkZdyxoInlLH


Evaluate Yourself 2

D. 

Answer: B

Watch Video Solution

Cr2O3, Al

1. Copper pyrites are concentrated by

A. gravity method

B. froth floatation process

C. electromagnetic method

D. all of these

https://dl.doubtnut.com/l/_LkZdyxoInlLH
https://dl.doubtnut.com/l/_fRc5RwwkHbWg


Answer: B

Watch Video Solution

2. Which of the following ores are concentrated by froth

floatation ?

A. copper glance

B. Barytes

C. Magnesite

D. Cassiterite

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fRc5RwwkHbWg
https://dl.doubtnut.com/l/_5xj7rYZDvh60


3. The chemical composition of cyolite mineral is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeS + SiO2

Cu2O + Fes

Cu2O + Cu2s

Cu2s + Fes

4. In the froth floatation process for the purification of

minerals the particles float because

A. they are light

https://dl.doubtnut.com/l/_dKKfGDeT24Q4
https://dl.doubtnut.com/l/_5QCRk1LkLivl


B. they are insoluble

C. Froth floatation

D. None of these

Answer: A

Watch Video Solution

5. The process of zone refining is used for 

A. Si

B. Ge

C. Ga

D. All

:

https://dl.doubtnut.com/l/_5QCRk1LkLivl
https://dl.doubtnut.com/l/_5HDSnFA4Zttq


Answer: D

Watch Video Solution

6. Which of the following metals is obtained by leaching its

ore with dilute cyanide solution ?

A. Silver

B. Titanium

C. Vandadium

D. Zinc

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_5HDSnFA4Zttq
https://dl.doubtnut.com/l/_eqCuKyib1agz


7. Electrolytic refining's is ued to purify which of the

following metals?

A. Ge and Si

B. Zr and Ti

C. Cu and Zn

D. Zn and Hg

Answer: C

Watch Video Solution

8. Which is the strongest reducing agent?

A. Rb

https://dl.doubtnut.com/l/_4lmSIXiSL9Bx
https://dl.doubtnut.com/l/_NQgvwNjqgwkj


Evaluate Yourself 3

B. Na

C. K

D. Mg

Answer: A

Watch Video Solution

1. In the electrolysis of alumina, cryolite is added to

A. lowers the m.pt. of the mixture

B. makes the fused mixture good conductor of

electricity

https://dl.doubtnut.com/l/_NQgvwNjqgwkj
https://dl.doubtnut.com/l/_xZQGlTGkTyXR


C. both these

D. none of these

Answer: C

Watch Video Solution

2. In blast furnace, the hearth is lined with

A. flux

B. slag

C. gangue

D. all these

Answer: A

https://dl.doubtnut.com/l/_xZQGlTGkTyXR
https://dl.doubtnut.com/l/_gTutd2QbH1KI


Watch Video Solution

3. Benzen is purified by

A. liquation

B. leaching

C. poling

D. distillation

Answer: D

Watch Video Solution

4. Blister copper is:

https://dl.doubtnut.com/l/_gTutd2QbH1KI
https://dl.doubtnut.com/l/_8R41rohIapGr
https://dl.doubtnut.com/l/_UaOTojSLk9x8


A. 98% copper

B. obtained in self reduction process in bessemer

converter

C. both 1 and 2

D. none of the above

Answer: C

Watch Video Solution

5. Which of the following statements is correct?

A. Pig iron is soft and brittle

https://dl.doubtnut.com/l/_UaOTojSLk9x8
https://dl.doubtnut.com/l/_XNIATaMw7C8e


B. slag floats on the molten iron thus protecting iron

from oxidation

C. Molten slag and molten iron are drawn off through

the same openings

D. The iron obtained from blast furnace is called cast

iron

Answer: B

Watch Video Solution

6. What type of ores can be concentrated by magnetic

separation method ?

https://dl.doubtnut.com/l/_XNIATaMw7C8e
https://dl.doubtnut.com/l/_Pc393AlRqb4a


A. wolframine

B. haematite

C. cassiterite

D. all of these

Answer: D

Watch Video Solution

7. In the extraction of chlorine by electrolysis of

brine_________.

A. Oxidation of  ion to chlorine gas occurs

B. reduction of  ion to chlorine gas occurs

CI −

CI −

https://dl.doubtnut.com/l/_Pc393AlRqb4a
https://dl.doubtnut.com/l/_2VoeuRuF3Y6c


C. for overall reacation Delta  has negative value

D. a displacement reaction takes place

Answer: A

Watch Video Solution

G∘

8. Which one of the following reactions is an example of

auto-reduction?

A. 

B. 

C. 

D. 

Fe3O4 + 4CO → 3Fe + 4CO2

Cu2O + C → 2Cu + CO

Cu2 + + (aq) + Fe(s) → Cu(s) + Fe2 + (aq)

Cu2O + Cu2S → 2Cu + SO2

1

2

1

2

https://dl.doubtnut.com/l/_2VoeuRuF3Y6c
https://dl.doubtnut.com/l/_JGEEyIlZkfN3


Answer: D

Watch Video Solution

9. In the metallurgy of aluminium,

A.  is oxidised to Al (s)

B. graphite anode is oxidised to CO and 

C. oxidation state of oxygen changes in the reaction at

anode

D. Oxidation state of oxygen changes in the overall

reaction involved in the process

Answer: B

Al3 +

CO2

https://dl.doubtnut.com/l/_JGEEyIlZkfN3
https://dl.doubtnut.com/l/_vZnFyPVe0EAe


C U Q

Watch Video Solution

1. In the commercial electrochemical process for aluminium

extraction, the electrolyte used is

A. Ores

B. Matrix

C. Slag

D. Gangue

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vZnFyPVe0EAe
https://dl.doubtnut.com/l/_ePdQjLE7jsgp


2. Impure tin contains  as one of the impurities.

Name the specific method employed for converting 

present in impure metal to tin.

A. Cr

B. Fe

C. Co

D. Cu

Answer: C

Watch Video Solution

SnO2

SnO2

3. Which of the following ore is/are oxide ore (s) ?

https://dl.doubtnut.com/l/_gK7aMMCWbAEp
https://dl.doubtnut.com/l/_S4hfNu370KHg


A. Sphalerite

B. Calamine

C. Calcite

D. 1 and 2

Answer: C

Watch Video Solution

4. Carbon-halogen bond is strongest among the following:

A. Siderite

B. Malachite

C. Calamine

https://dl.doubtnut.com/l/_S4hfNu370KHg
https://dl.doubtnut.com/l/_UVgmXTOSuu3l


D. all the above

Answer: D

Watch Video Solution

5. Write chemical reactions taking place in the extracion of

Aluminium from Bauxite ore .

A. AI

B. Cu

C. Zn

D. Fe

Answer: A

https://dl.doubtnut.com/l/_UVgmXTOSuu3l
https://dl.doubtnut.com/l/_0sdw7pjORcG1


Watch Video Solution

6. Mathc the column: 

Column I 

(A)  


(B)  


(C)  (D)  


Column II ltbr. (p) Cyclic silicate (q) Chain silicate 

(r) Each tetrachedron share two oxygens with other

tetrahedron 

(s) Sheet silicate 

(r) Each tetradedron share three oxygen atoms per

tetrahedron with other tetrahedron.

A. Bauxite

Ca2Mg5[(Si4O11)2](OH)2

Mg3(OH)4[Si2O5]

Ca3Si3O9 LiAl[(SiO3)2]

https://dl.doubtnut.com/l/_0sdw7pjORcG1
https://dl.doubtnut.com/l/_lFSGwGB8TbKj


B. Feldspar

C. Kaolinite

D. sphalerite

Answer: C

Watch Video Solution

7. Which one of the following is not a sulphide ore ?

A. Fool's gold

B. Chalcopyrites

C. cuprite

D. zinc blende

https://dl.doubtnut.com/l/_lFSGwGB8TbKj
https://dl.doubtnut.com/l/_6s3o30CzLY1r


Answer: C

Watch Video Solution

8. The second most abundant metal in earth's crust is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8.3 %

27.7 %

42.4 %

16.8 %

https://dl.doubtnut.com/l/_6s3o30CzLY1r
https://dl.doubtnut.com/l/_zehvdi2o0nyN
https://dl.doubtnut.com/l/_mYRNxIqZukZ0


9. A mineral consists of an equimolar mixture of the

carbonates of two bivalent metals. One metal is present to

the extent of 15.0% by weight,  of the mineral on

heating lost  of . The percent by weight of other

metal is

A. Zn

B. Fe

C. Cu

D. Zn

Answer: B

Watch Video Solution

3.0g

1.10g CO2

https://dl.doubtnut.com/l/_mYRNxIqZukZ0


10. Refining of impure copper with zinc impurity is to be

done by electrolysis using electrods as-

A. Cr

B. Co

C. Al

D. S

Answer: A

Watch Video Solution

11. Oxidation state of Fe in  is:

A. +2,+4

Fe3O4

https://dl.doubtnut.com/l/_KlmLyaPBFXJc
https://dl.doubtnut.com/l/_YWSM8Nezfysx


B. +1, +3

C. +2, +3

D. 0, +2

Answer: C

Watch Video Solution

12. LPG contains

A. Cu

B. Fe

C. S

D. O

https://dl.doubtnut.com/l/_YWSM8Nezfysx
https://dl.doubtnut.com/l/_A4h7beC4t3XK


Answer: D

Watch Video Solution

13. MINERALS

A. Haematite

B. Magnetite

C. sphalarite

D. 1 and 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_A4h7beC4t3XK
https://dl.doubtnut.com/l/_e1cadjntrltE
https://dl.doubtnut.com/l/_Ck0fulsDb7e3


14. Which separation technique is based on difference in

the volatility of the of the substances to be separated ?

A. Froth floatation

B. Levigation

C. Leaching

D. all the above

Answer: B

Watch Video Solution

15. Froth floatation :

A. pine oil

https://dl.doubtnut.com/l/_Ck0fulsDb7e3
https://dl.doubtnut.com/l/_pqqSTOlqjBAy


B. fatty acid

C. xanthate

D. all the above

Answer: D

Watch Video Solution

16. Froth floatation process used for the concentration of

sulphide ore :

A. cresols

B. aniline

C. benzene

https://dl.doubtnut.com/l/_pqqSTOlqjBAy
https://dl.doubtnut.com/l/_22fM3ISSSXb6


D. 1 and 2

Answer: D

Watch Video Solution

17. Name the substance used as depressant in the

separation of two sulphide ores in Froth floatation

method.

A. PbS and Zns

B. Cu,S, Fes

C. 

D. CaO, ZnO

SiO2Al2O3

https://dl.doubtnut.com/l/_22fM3ISSSXb6
https://dl.doubtnut.com/l/_xSelXjpgt4hG


Answer: A

Watch Video Solution

18. The ore of aluminium is

A. 

B. 

C. 

D. all the above

Answer: D

Watch Video Solution

SiO2

Fe2O3

T iO2

https://dl.doubtnut.com/l/_xSelXjpgt4hG
https://dl.doubtnut.com/l/_9pFZQXvZZnas
https://dl.doubtnut.com/l/_OMXnRWYt0LQU


19.  is soluble in NaCN due to formation of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ag2S

Na[Al(OH)4]

Na3[Al(H2O)6]

Na3AlO4

Na2AlO3

20. Assertion : In the extraction of Ag, complex

 is reacted with Zn. 


Reason : Zn is d-block transition metal.

A. 

Na[Ag(CN)2]

Ag[(Zn(CN)2]
−

https://dl.doubtnut.com/l/_OMXnRWYt0LQU
https://dl.doubtnut.com/l/_O2K5bFWAJtIG


B. 

C. 

D. 

Answer: D

Watch Video Solution

Ag[(Zn(CN)2]
− 2

Ag, (CN), Zn(CN4)

Ag[(Zn(CN)4]
− 2

21. Calamine is

A. 

B. 

C. 

D. 

CaO, CO2

ZnO, CO2

ZnO, SO2

ZnO, SiO2

https://dl.doubtnut.com/l/_O2K5bFWAJtIG
https://dl.doubtnut.com/l/_cygXatbGV7uA


Answer: B

Watch Video Solution

22. Sulphide ore is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na2S2O5

H2SO4

H2S2O8

H2SO5

https://dl.doubtnut.com/l/_cygXatbGV7uA
https://dl.doubtnut.com/l/_tgFaydUwOJaN
https://dl.doubtnut.com/l/_2b3EUEvxpUma


23. Which of the following statement(s) is/are incorrect ? 

I. Zinc can be extracted by self-reduction. 

II. A depressant prevents certain type of particel of come in

the froth . 

III. Copper matte contains ZnS and . 


IV. The solidified copper obtained from reverberatory

furnance has blistered appearance due to evolution of 

during the extraction . 

The option containing incorrect statements is

A. 

B. 

C. 

D. 

Answer: C

Cu2S

SO2

Cu2O, FeO

Cu2S, FeO

Cu2S, FeS

CuS, FeS2

https://dl.doubtnut.com/l/_2b3EUEvxpUma


Watch Video Solution

24. Reduction of Ore

A. Pyrometallurgy

B. Hydrometallurgy

C. Electrometallurgy

D. all the above

Answer: A

Watch Video Solution

25. The incorrect expression among the following is

https://dl.doubtnut.com/l/_2b3EUEvxpUma
https://dl.doubtnut.com/l/_n1xuvUhUQJy5
https://dl.doubtnut.com/l/_JC0Jpngctwh3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔG = ΔH − T ΔS

ΔG0 = − nFE

ΔG0 = − RT ln K

ΔG0 =
ΔH

T ΔS

26. ELLINGHAM DIAGRAM

A. 

B. 

C. 

ΔfG0V sT

ΔG90
f

V sΔH

ΔH 0V sΔS

https://dl.doubtnut.com/l/_JC0Jpngctwh3
https://dl.doubtnut.com/l/_HcbE1qYZ0f6G


D. 

Answer: A

Watch Video Solution

ΔSV sT

27. In Ellingham diagram, the slope of the curve of the

formation metal oxide:

A. 

B. 

C. 

D. 1 and 3

Answer: D

Cu → Cu2O

C → CO

Al → Al2O3

https://dl.doubtnut.com/l/_HcbE1qYZ0f6G
https://dl.doubtnut.com/l/_F9IJCrCuA0c2


Watch Video Solution

28. The Gibbs energy for the decomposition of  at 

 is as follows: 


 


The potential difference needed for electrolytic reeduction

of  at  is at least:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Al2O3

500∘ C

Al2O3 → Al + O2, ΔrG = + 966kJmol− 12

3

4

3

Al2O3 500∘ C

1073∘ C

1350∘ C

1473∘ C

273∘ C

https://dl.doubtnut.com/l/_F9IJCrCuA0c2
https://dl.doubtnut.com/l/_CN8rXwn33o2B


29. The sign of  for the process of melting of ice at

 and  atm pressure is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔG

273K 1

2Mg + O2 → 2MgO

4Cu + O2 → 2Cu2O

2Zn + O2 → + 2ZnO

2Fe + O2 → 2FeO

30. How is limestone used in  extraction?Fe

https://dl.doubtnut.com/l/_CN8rXwn33o2B
https://dl.doubtnut.com/l/_gLrCaaaYK2Ex
https://dl.doubtnut.com/l/_MSomEwi2gMyz


A. 1:1:1

B. 8:4:1

C. 1:4:8

D. 1:2:3

Answer: B

Watch Video Solution

31. Blister copper is

A. 

B. CO

C. 

CO2

SO2

https://dl.doubtnut.com/l/_MSomEwi2gMyz
https://dl.doubtnut.com/l/_TWiIta4mODGc


D. 

Answer: C

Watch Video Solution

SO3

32. ELECTROLYTIC REDUCTION

A. Beyer's process

B. Hoopes process

C. Hall-Heroult process

D. Mond's process

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TWiIta4mODGc
https://dl.doubtnut.com/l/_LB47cYo8qSXn


33. Hall-Heroult's process is given by :

A. Pt

B. Au

C. Fe

D. Graphite

Answer: D

Watch Video Solution

34. Observe the following reaction, 

in this reaction,

2NO2(g) + 2OH − (aq) → NO −
3 (aq) + H2O(l) + NO −

2 (aq)

https://dl.doubtnut.com/l/_LB47cYo8qSXn
https://dl.doubtnut.com/l/_5vxteKmqUOI2
https://dl.doubtnut.com/l/_8Y4FhAuBKD0O


A. + Ve, +Ve

B. + Ve, -Ve

C. - Ve, -Ve

D. -Ve, +Ve

Answer: B

Watch Video Solution

35. Following reactions take place during extraction of gold

 

Zinc in the extraction of gold acts as a/an

A. oxidising agent

4Au + 8CN − + 2H2O + O2 → 4[Au(CN)2]
−

+ 4OH −

2[Au(CN)2]
−

+ Zn → 2Au + [Zn(CN)4]
2 −

https://dl.doubtnut.com/l/_8Y4FhAuBKD0O
https://dl.doubtnut.com/l/_sstaj8jTeqfM


B. Reducing agent

C. Both

D. Base

Answer: B

Watch Video Solution

36. In the correct of the Hall-Heroult process for the

extraction of , which of the following statements is false

?

A. 0.5kg

B. 1.5Kg

C. 2.5Kg

Al

https://dl.doubtnut.com/l/_sstaj8jTeqfM
https://dl.doubtnut.com/l/_Covu2yGYydtN


D. 3.5Kg

Answer: A

Watch Video Solution

37. The most suitable method for extraction of copper from

low grade sulphide ore is

A. Pyrometallurgy

B. Electrometallurgy

C. Hydro metallurgy

D. all the above

Answer: C

https://dl.doubtnut.com/l/_Covu2yGYydtN
https://dl.doubtnut.com/l/_dEvf2tkR5YKi


Watch Video Solution

38. Which of the following is not employed for refining of

metal ?

A. Distillation

B. poling

C. Liquating

D. all the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dEvf2tkR5YKi
https://dl.doubtnut.com/l/_Aw54VfcGaBGj


39. Metal with low melting point containing impurities of

high melting point can be purified by

A. liquation

B. zone refining

C. distillation

D. crystallisation

Answer: C

Watch Video Solution

40. Block tin is not purified by

A. liquation

https://dl.doubtnut.com/l/_CTMEFwGmeI1X
https://dl.doubtnut.com/l/_XGAREnbm5t5q


B. distillation

C. crystallisation

D. zone refining

Answer: A

Watch Video Solution

41. In the electrolytic refining of zinc,

A. impure copper

B. pure copper

C. platinum

D. graphite

https://dl.doubtnut.com/l/_XGAREnbm5t5q
https://dl.doubtnut.com/l/_9rZyRusEYG1W


Answer: B

Watch Video Solution

42. The process of zone refining is used for 

A. Ga

B. In

C. B

D. all the above

Answer: D

Watch Video Solution

:

https://dl.doubtnut.com/l/_9rZyRusEYG1W
https://dl.doubtnut.com/l/_Uu88nadALUOh
https://dl.doubtnut.com/l/_iUU6ibZ1dn1B


43. Assertion : van Arkel method is used for refining of Zinc.

Reason : In this method impure is evaporated to obtain the

pure metal as distillate .

A. Nitrogen

B. Oxygen

C. Cu

D. 1 and 2

Answer: D

Watch Video Solution

44. To support tungsten filament in electric bulb, the steel

used is

https://dl.doubtnut.com/l/_iUU6ibZ1dn1B
https://dl.doubtnut.com/l/_Br8yneRDYkxg


A. 1800K

B. 1200K

C. 1000K

D. 600K

Answer: A

Watch Video Solution

45. German silver does not contain

A. Cu

B. Zn

C. Ni

https://dl.doubtnut.com/l/_Br8yneRDYkxg
https://dl.doubtnut.com/l/_THmUv7l92eRX


D. all rare equal

Answer: C

Watch Video Solution

46. Which of the following is non-volatile in steam ?

A. Al

B. Cu

C. Pt

D. Au

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_THmUv7l92eRX
https://dl.doubtnut.com/l/_SnOwBE1UmOi9


47. Which metal is used in amalgams ?

A. Cu

B. Ag

C. Au

D. Al

Answer: D

Watch Video Solution

48. Aluminium metal is generally used for the extraction of

chromium and manganese from their oxide ores. Explain.

https://dl.doubtnut.com/l/_SnOwBE1UmOi9
https://dl.doubtnut.com/l/_nprvXyWRGte4
https://dl.doubtnut.com/l/_x3SWOhTkapv5


A. Cr

B. Mn

C. Na

D. 1 and 2

Answer: D

Watch Video Solution

49. The ratio of copper and
 zinc in an alloy is 
 . If the

weight of the
 copper in the alloy is 
 grams, find the

weight of
zinc in the alloy.

A. Zn

B. Sn

5: 3

30. 5

https://dl.doubtnut.com/l/_x3SWOhTkapv5
https://dl.doubtnut.com/l/_s6bql00BbJtA


C. Ni

D. Al

Answer: C

Watch Video Solution

50. Soft iron is used for making electromagnet because it

A. Anchors

B. Bolts

C. Agricultural implements

D. all the above

Answer: D

https://dl.doubtnut.com/l/_s6bql00BbJtA
https://dl.doubtnut.com/l/_1qqAcoio5hgJ


Exercise 1 Class Work Introduction

Watch Video Solution

51. Soft iron is used in many electrical machines for:

A. Nickel steel

B. Chrome steel

C. Tungstun steel

D. Manganese steel

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1qqAcoio5hgJ
https://dl.doubtnut.com/l/_EakMw6KUenH7
https://dl.doubtnut.com/l/_5oqijZTz15xA


1. The most abundant metal in the earth's crust is

A. Calcium

B. Aluminium

C. Iron

D. Magnesium

Answer: B

Watch Video Solution

2. The metal that occurs in the native state as well as in the

combined form is

A. Silver

https://dl.doubtnut.com/l/_5oqijZTz15xA
https://dl.doubtnut.com/l/_MUYCPkGEDzIY


B. Magnesium

C. Aluminium

D. Maganese

Answer: A

Watch Video Solution

3. Pick up the correct statement

A. All ores are minerals

B. All mineral are ores

C. A mineral cannot be ore

D. An ore cannot be a mineral

https://dl.doubtnut.com/l/_MUYCPkGEDzIY
https://dl.doubtnut.com/l/_c20wmgBOKcDP


Answer: A

Watch Video Solution

4. The element with maximum cosmic abundance is

A. Helium

B. Hydrogen

C. Nitrogen

D. Oxygen

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c20wmgBOKcDP
https://dl.doubtnut.com/l/_jgQst4pBCSn4
https://dl.doubtnut.com/l/_01Co6FKj2zPF


5. Malachit is ore of

A. Iron

B. Zinc

C. Copper

D. Mercury

Answer: C

Watch Video Solution

6. Which of the following is an ore of aluminium ?

A. Dolomite

B. Azurite

https://dl.doubtnut.com/l/_01Co6FKj2zPF
https://dl.doubtnut.com/l/_nfPcLv2IXQOv


Exercise 1 Class Work Concentration Of Ores

C. Bauxite

D. Malachite

Answer: C

Watch Video Solution

1. The process of removing lighter gangue particles by

washing in a current if water is called:

A. Levigation

B. Liquidation

C. Leaching

https://dl.doubtnut.com/l/_nfPcLv2IXQOv
https://dl.doubtnut.com/l/_mDqggjZxXIZN


D. Cupellation

Answer: A

Watch Video Solution

2. Which method is used for purification of Bauxite ore ?

A. Levigation

B. Leaching

C. Electrolysis

D. Magnetic seperation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mDqggjZxXIZN
https://dl.doubtnut.com/l/_24CuHrbYsKnp


3. In the froth floatation process for the purification of

minerals the particles float because

A. they are light

B. they are insoluble

C. their surface is preferentially wetted by oil

D. they bear an electrostatic charge

Answer: C

Watch Video Solution

4. Froth floatation process for the concentration of ores is

an illustration of the pratical application of _________.

https://dl.doubtnut.com/l/_24CuHrbYsKnp
https://dl.doubtnut.com/l/_hQXc20rPvpGL
https://dl.doubtnut.com/l/_x6cTpTWISwff


A. Adsorption

B. Absorption

C. Coagulation

D. Sedimentation

Answer: A

Watch Video Solution

5. Which of the following is used as a foaming agent in

froth floatation process ?

A. Pine oil

B. Amyl xanthate

https://dl.doubtnut.com/l/_x6cTpTWISwff
https://dl.doubtnut.com/l/_AMIv9OllfQKR


C. 

D. KCN

Answer: A

Watch Video Solution

CuSO4

6. Wolframite is separated from cassiterite by:

A. Froth floatation method

B. Levigation

C. Electromagnetic separation method

D. Electrostatic separation method

Answer: C

https://dl.doubtnut.com/l/_AMIv9OllfQKR
https://dl.doubtnut.com/l/_r9gtDT4lsZPT


Watch Video Solution

7. Name the metal M which is extracted on the basis of

following reactions : 

 


A. Cu

B. Au

C. Hg

D. Ni

Answer: B

Watch Video Solution

4M + 8CN − + 2H2O + O2 → 4[M(CN)2]
−

+ 4OH −

2[M(CN)2]
−

+ Zn → [Zn(CN)4]
2 −

+ 2M

https://dl.doubtnut.com/l/_r9gtDT4lsZPT
https://dl.doubtnut.com/l/_iURUqfGMGOPk


Exercise 1 Class Work Extraction Of Metals

8. Which of the following benefication processes is used for

the mineral  ?

A. Froth floatation

B. Leaching

C. Liquating

D. Magnetic separation

Answer: B

Watch Video Solution

Al2O3.2H2O

https://dl.doubtnut.com/l/_SBZmviYHMd9n


1. The process in which the ore is heated in excess of air

below its metling point is known as

A. Roasting

B. Calcination

C. Reduction

D. Distillation

Answer: A

Watch Video Solution

2. In roasting

A. moisture is removed

https://dl.doubtnut.com/l/_fwYXQ3uA3KZ4
https://dl.doubtnut.com/l/_Uk0y0tAvI7FC


B. no metal impurities are removed

C. ore becomes porous

D. all of the above

Answer: D

Watch Video Solution

3. The role of calcination in metallurgical operation is

A. To remove moisture

B. To decompose carbonate

C. To derive off organic matter

D. All of the above

https://dl.doubtnut.com/l/_Uk0y0tAvI7FC
https://dl.doubtnut.com/l/_7kAvwm3ijfTx


Answer: D

Watch Video Solution

4. In roasting the ores are generally converted into

A. Metal oxides

B. Hydrated metal oxides

C. Metals

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7kAvwm3ijfTx
https://dl.doubtnut.com/l/_cWaQqCtawKNT
https://dl.doubtnut.com/l/_3AaY6vv5ZWFA


5. The most common method of extraction of metals from

oxide ores involve

A. Reduction with carbon

B. Electrolytic method

C. Reduction with aluminium

D. Reduction with hydrogen

Answer: A

Watch Video Solution

6. Slag is a product of:

A. flux and coke

https://dl.doubtnut.com/l/_3AaY6vv5ZWFA
https://dl.doubtnut.com/l/_zWVjp4IoE2XK


B. coke and metal oxide

C. flux and impurities

D. metal and flux

Answer: C

Watch Video Solution

7. Which of the following metal can not be extracted by

smelting process

A. Pb

B. Fe

C. Zn

https://dl.doubtnut.com/l/_zWVjp4IoE2XK
https://dl.doubtnut.com/l/_iTTPtIHLCPRN


D. Al

Answer: D

Watch Video Solution

8. The reducing agent used in thermite process is

A. Magnesium

B. Chromium

C. Aluminium

D. Iron

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iTTPtIHLCPRN
https://dl.doubtnut.com/l/_t19k6jlP1Ssr


9. The chemical reagent used for leaching of gold and silver

ores is

A. Sodium hydroxide

B. Potassium cyanide

C. Potassium cyanate

D. Sodium thiosulphate

Answer: B

Watch Video Solution

10. The slag obtained during the extraction of copper from

coper pyrites is composed mainly of

https://dl.doubtnut.com/l/_t19k6jlP1Ssr
https://dl.doubtnut.com/l/_2nRN9N4OVDIU
https://dl.doubtnut.com/l/_hVjsoNNZ7eRO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Au2S

FeSiO3

CuSiO3

SiO2

11. The metal which can be extracted from pyrolusite ore is:

A. An acidic flux is needed

B. A basic flux is needed

C. Both acidc and basic fluxes are needed

https://dl.doubtnut.com/l/_hVjsoNNZ7eRO
https://dl.doubtnut.com/l/_J2N0F2x5cBh4


D. Neither of them needed

Answer: B

Watch Video Solution

12. Which metal can not obtained by electrolysis of their

aqueous salt solution ?

A. Ca

B. Mg

C. Cr

D. Al

Answer: C

https://dl.doubtnut.com/l/_J2N0F2x5cBh4
https://dl.doubtnut.com/l/_oLzsDX9VzZNj


Watch Video Solution

13. Which one of the following reactions is an example for

calcination process ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2Ag + 2HCl + [O] → AgCl + H2O

2Zn + O2 → 2ZnO

2ZnS + 3O2 → 2ZnO + 2SO2

MgCO3 → MgO + CO2

https://dl.doubtnut.com/l/_oLzsDX9VzZNj
https://dl.doubtnut.com/l/_dF9JGuxWdpbu


14. Which of the following elements is extracted

commercially by the electrolysis of an aqueous solution of

its compound ?

A. Chlorine

B. Bromine

C. Sodium

D. Aluminium

Answer: A

Watch Video Solution

15. In the extractionof iron, slag is produced. Slag is

https://dl.doubtnut.com/l/_RGaDpZVtwKq0
https://dl.doubtnut.com/l/_fQmhQmnMiPyf


A. CO

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeSiO3

MgSiO3

CaSiO3

16. Thomas slag is

A. Calcium silicate

B. Calcium phosephate

C. Barium phosephate

https://dl.doubtnut.com/l/_fQmhQmnMiPyf
https://dl.doubtnut.com/l/_hK5JlIIWlOib


D. Strontium phosphate

Answer: B

Watch Video Solution

17.  vs T plot in Ellingham diagram slopes downward

for the reaction .

A. 

B. 

C. 

D. 

Answer: C

ΔGӨ

Mg + O2 → MgO
1

2

2Ag + O2 → 2Ag2O
1

2

C + O2 → CO
1

2

CO + O2 → CO2

1

2

https://dl.doubtnut.com/l/_hK5JlIIWlOib
https://dl.doubtnut.com/l/_k1IqcddcOcMJ


Exercise 1 Class Refining Of Metals Uses

Watch Video Solution

18. Which has highest melting point ?

A. Pig iron

B. Cast iron

C. Steel

D. Wrought iron

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_k1IqcddcOcMJ
https://dl.doubtnut.com/l/_uG0iTyye5Qq2
https://dl.doubtnut.com/l/_f2a0gVrfJQzA


1. Which method of purification is represented by the

following equations 

A. Cepellation

B. Poling

C. Van Arkel

D. Zone refining

Answer: C

Watch Video Solution

T i + 2I2

523K
−−→ T iI4

1700K
−−−→ T i + 2I2

2. Van Arkel method of purification of metals involves

converting the metal to

https://dl.doubtnut.com/l/_f2a0gVrfJQzA
https://dl.doubtnut.com/l/_ACY2S7reJ93W


A. Volatile compound

B. Volatile unstable compound

C. Non-volatile stable compound

D. None of these

Answer: A

Watch Video Solution

3. Cupellation process is involved in the metallurgy of

A. Cu

B. Ag

C. Al

https://dl.doubtnut.com/l/_ACY2S7reJ93W
https://dl.doubtnut.com/l/_wNkUIfxrR0yB


D. Fe

Answer: B

Watch Video Solution

4. Copper is refined by

A. Liquation

B. Cupellatin

C. Bessemerisation

D. Poling

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wNkUIfxrR0yB
https://dl.doubtnut.com/l/_C6gjqzQ4sHrf


5. During electrorefining of a metal, impure metal is made

anode.

A. Silver

B. Copper

C. Aluminium

D. Gold

Answer: C

Watch Video Solution

6. Zone refining process is used for the

https://dl.doubtnut.com/l/_C6gjqzQ4sHrf
https://dl.doubtnut.com/l/_mr8gxNeuQVUr
https://dl.doubtnut.com/l/_1jEvxlP1uBYN


A. Concentration of an ore

B. Reduction of a metal oxide

C. Purification of metal

D. Purification of an ore

Answer: C

Watch Video Solution

7. The process of zinc plating on iron sheet is known as

A. Cu plating

B. Zn plating

C. Ag plating

https://dl.doubtnut.com/l/_1jEvxlP1uBYN
https://dl.doubtnut.com/l/_reAK4RD35wbv


D. Tin plating

Answer: B

Watch Video Solution

8. The process of zone refining is used in the purification of

:

A. Si

B. Al

C. Ag

D. Cu

Answer: A

https://dl.doubtnut.com/l/_reAK4RD35wbv
https://dl.doubtnut.com/l/_DDvjHNSqbI44


Exercise 1 Home Work Introduction

Watch Video Solution

9. Nickel is purified by thermal decomposition of its

A. Hydride

B. Chloride

C. Azide

D. Carbonyl

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DDvjHNSqbI44
https://dl.doubtnut.com/l/_rYUgf0j8iVCt
https://dl.doubtnut.com/l/_O7A5VZgkJkVA


1. Living organism contains iron in

A. Chlorophyll

B. Haemoglobin

C. Eyes of animals

D. None of these

Answer: B

Watch Video Solution

2. Most abundant element in the earth's crust by weight is

A. Oxygen

B. Silicon

https://dl.doubtnut.com/l/_O7A5VZgkJkVA
https://dl.doubtnut.com/l/_ftwxoKOBNnMe


C. Aluminium

D. Iron

Answer: A

Watch Video Solution

3. The rocky and siliceous matter associated with an ore is

called:

A. Slag

B. Mineral

C. Matrix or Gangue

D. Flux

https://dl.doubtnut.com/l/_ftwxoKOBNnMe
https://dl.doubtnut.com/l/_UgpiUtdNssBd


Answer: C

Watch Video Solution

4. Minerals from which metals are extracted conveniently

and economically are called ____.

A. Ores

B. Minerals

C. Gangue

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UgpiUtdNssBd
https://dl.doubtnut.com/l/_ILejgHYCr0kB


5. Which one of the following elements does not exist in

the native form ?

A. Au

B. Pt

C. Fe

D. S

Answer: C

Watch Video Solution

6. Which ore contains both iron and copper?

A. Cuprite

https://dl.doubtnut.com/l/_3OH7F0urQp9L
https://dl.doubtnut.com/l/_k3a292fvxPtc


Exercise 1 Home Work Concentration Of Ores

B. Chalcocite

C. Chalcophyrite

D. Malachite

Answer: C

Watch Video Solution

1. Gravity separation method is based upon:

A. Preferential washing of ores and gangue particles

B. Difference in densities of ore particles and impurities

https://dl.doubtnut.com/l/_k3a292fvxPtc
https://dl.doubtnut.com/l/_lRfQcF0xyOlA


C. Difference in chemical properties of ore particles and

impurities

D. None of the these

Answer: B

Watch Video Solution

2. Which of the following concentration processes will you

use when the gangue is light ?

A. Gravity separatin

B. Magnetic separation

C. Froth floatation

https://dl.doubtnut.com/l/_lRfQcF0xyOlA
https://dl.doubtnut.com/l/_YiJL5qBXtMze


D. None of these

Answer: A

Watch Video Solution

3. Gravity separation process may be used for the

concentration of:

A. Chalcopyrite

B. Bauxite

C. Haematite

D. Calamine

Answer: C

https://dl.doubtnut.com/l/_YiJL5qBXtMze
https://dl.doubtnut.com/l/_uw0Kx971a7Zm


Watch Video Solution

4. Copper pyrites are concentrated by

A. Froth floatation process

B. Gravity separation

C. Distillation

D. Fractionation

Answer: A

Watch Video Solution

5. Which of the following is used as a depression in froth

floatation process ?

https://dl.doubtnut.com/l/_uw0Kx971a7Zm
https://dl.doubtnut.com/l/_VwsE06DTS17H
https://dl.doubtnut.com/l/_ezfUqCAvCdry


A. Amyl xanthate

B. Pine oil

C. Copper sulphate

D. Potassium cyanide

Answer: D

Watch Video Solution

6. Roasting is done in

A. Oxide ores

B. Silicate ores

C. Sulphide ores

https://dl.doubtnut.com/l/_ezfUqCAvCdry
https://dl.doubtnut.com/l/_M28qSkfltmCO


D. Carbonate ores

Answer: C

Watch Video Solution

7. Cassiterite is concentrated by

A. Levigation

B. Electromagnetic separation

C. Floatatoin

D. Liquefaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M28qSkfltmCO
https://dl.doubtnut.com/l/_nuufEzs9Ys3z


8. Bauxide ore is made up of

. This ore is treated with

conc.  solution at  and  bar pressure for a

few hours and filtered hot. In the filtrate, the species

present are

A.  only

B.  and 

C.  only

D.  only

Answer: B

Watch Video Solution

Al2O3 + SiO2 + T iO2 + Fe2O3

NaOH 500K 35

NaAl(OH)4

NaAl(OH)4 Na2SiO3

Na2T i(OH)6

Na2SiO3

https://dl.doubtnut.com/l/_nuufEzs9Ys3z
https://dl.doubtnut.com/l/_9toMvI08CBrW


Exercise 1 Home Work Extraction Of Metals

1. Heating pyrites in air to remove sulphur dioxide is known

as

A. Calcination

B. Fluxing

C. Smelting

D. Roasting

Answer: D

Watch Video Solution

2. Calcination and roasting are generally carried out in

https://dl.doubtnut.com/l/_Xg2POZEUhaIX
https://dl.doubtnut.com/l/_NDGZpKRpkJXo


A. Reverbratory furnace

B. Open heart furnace

C. Blast furnace

D. Muffle Furnace

Answer: A

Watch Video Solution

3. Roasting is carried out in case of:

A. Galena

B. Iron pyrites

C. Copper glance

https://dl.doubtnut.com/l/_NDGZpKRpkJXo
https://dl.doubtnut.com/l/_SJL3ozwi3MtJ


D. All

Answer: D

Watch Video Solution

4. An ore after levigation is found to have basic impurities.

Which of the following can be used as flux during smelting

?

A. 

B. 

C. 

D. Both CaO and 

H2SO4

CaCO3

SiO2

SiO2

https://dl.doubtnut.com/l/_SJL3ozwi3MtJ
https://dl.doubtnut.com/l/_6narMf6OAeGg


Answer: C

Watch Video Solution

5. Which of the following processes involves smelting ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ZnCO3

Heat
−−→ 3Fe + 3CO

Fe2O3 + 3C
Heat
−−→ 3Fe + 3CO

2PbS + 3O2

Heat
−−→ 3PbO + 2SO2

Al2O3.2H2O
Heat
−−→ Al2O3 + 2H2O

https://dl.doubtnut.com/l/_6narMf6OAeGg
https://dl.doubtnut.com/l/_uC81PC5ydVTg
https://dl.doubtnut.com/l/_UrgmX6d6XG0x


6. The substance which is added to ore in order to remove

impurities during smelting is called

A. Slag

B. Gangue

C. Flux

D. Matrix

Answer: C

Watch Video Solution

7. The process of bringing the metal or its ore into solution

by the action of a suitable chemical reagent followed by

https://dl.doubtnut.com/l/_UrgmX6d6XG0x
https://dl.doubtnut.com/l/_NJyfpH1Rc4c1


extraction of the metal either by electrolysis or by a

suitable precipitating agent, is called

A. Electrometallurgy

B. Hydrometallurgy

C. Electro refining

D. Zone refining

Answer: B

Watch Video Solution

8. The extraction of which of the following metals involves

bassemerisation?

A. Fe

https://dl.doubtnut.com/l/_NJyfpH1Rc4c1
https://dl.doubtnut.com/l/_ypsr8MP2IThM


B. Ag

C. Al

D. Cu

Answer: D

Watch Video Solution

9. Which of the following statements is correct regrading

the slag obtained during the extraction of a metal like

copper or iron?

A. The slag is lighter and has lower melting point

B. The slag is heavier and has lower melting point than

the metal

https://dl.doubtnut.com/l/_ypsr8MP2IThM
https://dl.doubtnut.com/l/_z3UddoMsmxH8


C. The slag is lighter and has higher melting point than

the metal

D. The slag is heavier and has higher melting point than

the metal

Answer: A

Watch Video Solution

10. Which is the strongest reducing agent?

A. Rb

B. Mg

C. Cr

https://dl.doubtnut.com/l/_z3UddoMsmxH8
https://dl.doubtnut.com/l/_yY503aRbDQSO


D. K

Answer: A

Watch Video Solution

11. The process in which the ore is heated in excess of air

below its metling point is known as

A. Leaching

B. Roasting

C. Smelting

D. Calcination

Answer: D

https://dl.doubtnut.com/l/_yY503aRbDQSO
https://dl.doubtnut.com/l/_nnzjDyWMk4Wr


Watch Video Solution

12. Which of the following metals are extracted by

electrolytic reduction?

A. Fe

B. Cu

C. Ag

D. Al

Answer: D

Watch Video Solution

13. Cryolite is:

https://dl.doubtnut.com/l/_nnzjDyWMk4Wr
https://dl.doubtnut.com/l/_0BKoRukMpIhb
https://dl.doubtnut.com/l/_67BHm7jfepD7


A.  and is used in the electrolysis of alumina

for decreasing electrical conductivity

B.  and is used in the electrolysis of alumina

for lowering the melting point of alumina

C.  and is used in the electrolytic purification

of alumina

D.  and is used in the electrolysis of alumina

Answer: B

Watch Video Solution

Na3AlF6

Na3AlF6

Na3AlF6

Na3AlF6

14. The least stable oxide at room temperature is

https://dl.doubtnut.com/l/_67BHm7jfepD7
https://dl.doubtnut.com/l/_Yt1YaqRRAKkx


A. ZnO

B. CuO

C. 

D. 

Answer: D

Watch Video Solution

Sb2O3

Ag2O

15. The oxidation state of  in  is

A. C

B. Al

C. electrolytic reduction

Fe Fe3O8

https://dl.doubtnut.com/l/_Yt1YaqRRAKkx
https://dl.doubtnut.com/l/_KR7ShzcXPL85


D. Cu

Answer: A

Watch Video Solution

16. The iron obtained from the blast furnace is called:

A. pig iron

B. cast iron

C. wrought iron

D. steel

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KR7ShzcXPL85
https://dl.doubtnut.com/l/_EowsiPvd1svS


17. Which of the following elements contitutes a major

impurity in pig iron ?

A. Graphite

B. Oxygen

C. Sulphur

D. Silicon

Answer: A

Watch Video Solution

18. In the course of a chemical reaction an oxidant -

https://dl.doubtnut.com/l/_EowsiPvd1svS
https://dl.doubtnut.com/l/_pG1P3OfIUXdc
https://dl.doubtnut.com/l/_5mpLxpVrnMVm


A. aluminium oxide is very stable

B. reducing agent contaminates

C. the process pollutes the environment

D. aluminium oxide is unstable

Answer: A

Watch Video Solution

19. Electrolytic reduction of alumina to aluminium by Hall-

Heroult process is carried out:

A. in the presence of NaCl

B. in the presence of fluorite

https://dl.doubtnut.com/l/_5mpLxpVrnMVm
https://dl.doubtnut.com/l/_2WcXydwoU0PI


Exercise 1 Home Work Refining Of Metals And Uses

C. in the presence of cryolite which forms a melt with

higher melting temperature

D. in the presence of cryolite which forms a melt with

lower melting temperature

Answer: D

Watch Video Solution

1. Which of the following is not employed for refining of

metal ?

A. Poling

https://dl.doubtnut.com/l/_2WcXydwoU0PI
https://dl.doubtnut.com/l/_haBLVJ7ybi1D


B. Leaching

C. Electrolysis

D. Liquation

Answer: B

Watch Video Solution

2. Purification of Silicon element used in semiconductors is

done by ___________.

A. Zone refining

B. Heating

C. Froth floatation

https://dl.doubtnut.com/l/_haBLVJ7ybi1D
https://dl.doubtnut.com/l/_avNjfiMMvkpT


D. Heating in vaccum

Answer: A

Watch Video Solution

3. The method of zone refining of metals is based on the

principle of :

A. greater solubility of the impurities in the molten

state than in the solid

B. greater solubility of pure metal than that of the

impurity

https://dl.doubtnut.com/l/_avNjfiMMvkpT
https://dl.doubtnut.com/l/_r9juZz5hvcEz


C. higher melting point of the impurity than that of the

pure metal

D. greater noble character of the solid metal than that

of the impurity

Answer: A

Watch Video Solution

4. Vapour phase refining of nickel is carried out using

A. 

B. 

C. HCl

I2

Cl3

https://dl.doubtnut.com/l/_r9juZz5hvcEz
https://dl.doubtnut.com/l/_1m65J9XsAuXW


D. CO

Answer: D

Watch Video Solution

5. Mond's process is used for

A. Ni

B. Al

C. Fe

D. Cu

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1m65J9XsAuXW
https://dl.doubtnut.com/l/_VcIHYO7loHUD


Exercise 2 Class Work

1. An important oxide ore if iron is

A. Sidherite

B. Haematite

C. Pyrites

D. Bauxite

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VcIHYO7loHUD
https://dl.doubtnut.com/l/_GpmY5slrpKAj


2. The formula of azurite is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

:

CuCO3. Cu(OH)2

2CuCO3. Cu(OH)2

CuCO2. Cu(OH)2

CuSO4. Cu(OH)2

3. The ore having two different metal atoms is

A. haematite

B. galena

https://dl.doubtnut.com/l/_RlnwLkibr4na
https://dl.doubtnut.com/l/_afDziIc6j3H4


C. magnetite

D. copper pyrites

Answer: D

Watch Video Solution

4. Select the incorrect statement

A. oxygen is the most abundant element in the earth's

cast

B. aluminium is the most abundant metal in the earth's

crust

https://dl.doubtnut.com/l/_afDziIc6j3H4
https://dl.doubtnut.com/l/_so9rIIc5meMD


C. Iron is the most abundant transition metal in the

earth's crust

D. Silicon is fourth most abundant element in the

earth's crust

Answer: D

Watch Video Solution

5. Which of the following pair consists of ore of the same

metal ?

A. Bauxite, Limonite

B. Haematite, magnetite

https://dl.doubtnut.com/l/_so9rIIc5meMD
https://dl.doubtnut.com/l/_loNgf33Zb6RF


C. Galena, Cerusite

D. Both 2 and 3

Answer: D

Watch Video Solution

6. The ore having two different metal atoms is

A. carnallite

B. magnetite

C. calamine

D. haematite

Answer: A

https://dl.doubtnut.com/l/_loNgf33Zb6RF
https://dl.doubtnut.com/l/_jnn0cYO6Ap7i


Watch Video Solution

7. Which of the following statements is wrong

A. Calcination and roasting is done in a reverberatory

furnace

B. all ores are minerals

C. all minerals are ores

D. iron ores are concentrated by gravity process and

clectromagnetic process

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jnn0cYO6Ap7i
https://dl.doubtnut.com/l/_MRQeei4DytRO


Exercise 2 Concentration Of Ores

1. Electrolyte reduction method is used in the extraction of

A. highly electronegative elements

B. Highly electropositive elements

C. transition metals

D. noble metals

Answer: B

Watch Video Solution

2. The process of converting hydrated alumina into

anhydrous alumina is called

https://dl.doubtnut.com/l/_talVMMLMMe9J
https://dl.doubtnut.com/l/_5NMbJZJ4Etv4


A. Roasting

B. Smelting

C. Dressing

D. Calcination

Answer: D

Watch Video Solution

3. Consider the following statements : 

Roasting is carried out to : 

1. Convert sulphide into oxide 

2. Melt the ore 

3. Remove moisture, water of hydration and expel organic

matter 

https://dl.doubtnut.com/l/_5NMbJZJ4Etv4
https://dl.doubtnut.com/l/_3YJAAswg7MAD


4. Remove sulphur and arsenic in the form of volatile

oxides 

Out of these statements :

A. i, ii and iv

B. i, ii and iii

C. ii, iii and iv

D. i, ii and iv

Answer: A

Watch Video Solution

4. In the froth flotation process for benefication of ore, the

ore particles float because

https://dl.doubtnut.com/l/_3YJAAswg7MAD
https://dl.doubtnut.com/l/_s5jHlqRlImLS


Exercise 2 Extraction Of Metals

A. they are light

B. their surface is not wetted by water

C. they bear electrostatic charge

D. they are insoluble

Answer: B

Watch Video Solution

1. Which of the following processes involves smelting ?

A. ZnCO3

heat
−−→ ZnO + CO2

https://dl.doubtnut.com/l/_s5jHlqRlImLS
https://dl.doubtnut.com/l/_Vhpqqvsqtnnx


B.  


C. 

D. 

Answer: B

Watch Video Solution

FeO3 + CO
heat
−−→ 2FeO + CO2

FeO + CO
heat
−−→ 2Fe + CO2

Al2O2.2H2O
heat
−−→ Al2O3 + 3H2O

2PbS + 3O2

heat
−−→ 2PbO + 2SO2

2. Identify  and  in the following reactions . 


 


.

A. A

B. B

X Y

PbS
Heat

−−−−−→
in air

(X)

(X) + PbS
Y

−−→ pb + SO2

https://dl.doubtnut.com/l/_Vhpqqvsqtnnx
https://dl.doubtnut.com/l/_seQQiSB90XtW


C. both (a) and (b)

D. none of these

Answer: B

Watch Video Solution

3. Heating mixture of and  will give

A. 

B. 

C. CuO+Cus

D. 

Answer: A

Cu2O Cu2S

Cu + SO2

Cu + SO3

Cu2SO3

https://dl.doubtnut.com/l/_seQQiSB90XtW
https://dl.doubtnut.com/l/_mvESBwj3oulp


Watch Video Solution

4. Extraction of zinc from zinc blende is achieved by:

A. electrolytic reduction

B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self reduction

Answer: B

Watch Video Solution

5. Which of the following is correctly matched?

https://dl.doubtnut.com/l/_mvESBwj3oulp
https://dl.doubtnut.com/l/_JGsjUDz0sjzj
https://dl.doubtnut.com/l/_h8FwXUsnxjiR


A. Two metals which are extracted by auto- reduction

process-Cu, Pb

B. Two metals which are extracted by leaching method-

Al Ag

C. Two metals which are extracted by electrolysis of

their fused salts - Na, Al

D. Two metals which are extracted from their oxide ores

- Sn, Pb

Answer: D

Watch Video Solution

6. How is cas iron different from pig iron ?

https://dl.doubtnut.com/l/_h8FwXUsnxjiR
https://dl.doubtnut.com/l/_B8S98zUgsdB1


A. Cast iron is pure iron while pig iron is imure

B. Cast iron has lower carbon content than pig iron.

Cast iron is harder and has casting property

C. pig iron is extremetly hard while cast iron is soft and

malleable

D. pig iron contains many impurities like S, P, Sietc.,

while cast iron is free from these impurities

Answer: B

Watch Video Solution

7. Carbon reduction process is used for the extraction of

https://dl.doubtnut.com/l/_B8S98zUgsdB1
https://dl.doubtnut.com/l/_OMQ9VkB10XS6


A. Fe

B. Cu

C. Ag

D. Sn

Answer: A

Watch Video Solution

8. When ZnS and PbS minearls are present together, then

NaCN is added to separate them in the froth floatation

process as a depressant, because :

A.  is precipitated while there is no effect on

Zns

Pb(CN)2

https://dl.doubtnut.com/l/_OMQ9VkB10XS6
https://dl.doubtnut.com/l/_IP2PiTfK69W8


B. ZnS forms soluble complex, 

C. PbS forms soluble complex, 

D. both (1) and (2)

Answer: B

Watch Video Solution

Na2Zn(CN)4

Na2Zn(CN)4

9. Consider the following reaction at  


(A) 

 


(B) 


Choose the correct statement at 

A. Zinc can be oxidised by CO

1000∘ C

Zn(s) + O2(g) → ZnO(s), ΔGӨ = − 360kJmol− 11

2

C(s) + O2(g) → OO(g), ΔGӨ = − 460kJmol− 11

2

1000∘ C

https://dl.doubtnut.com/l/_IP2PiTfK69W8
https://dl.doubtnut.com/l/_q1cPBNMhwXTi


B. Zinc oxide can be reduced by C

C. Both statements (A) and (B) are true

D. Both statements (A) and (B) are false

Answer: B

Watch Video Solution

10. The smelting of iron in a blast furnace involves, which of

the following process(es)?

A. combustion

B. reduction

C. slag formation

https://dl.doubtnut.com/l/_q1cPBNMhwXTi
https://dl.doubtnut.com/l/_UpgMsKqTyN4Q


D. sublimation

Answer: D

Watch Video Solution

11. The maximum temperature  is obtained in the

_____ region of the blast furnace used in the the extraction

of iron.

A. reduction

B. fusion

C. combustion

D. slag formation

1550∘ C

https://dl.doubtnut.com/l/_UpgMsKqTyN4Q
https://dl.doubtnut.com/l/_1TQhZyXl1G5h


Answer: C

Watch Video Solution

12. In the commercial electrochemical process for

aluminium extraction, the electrolyte used is

A.  in NaOH

B. an aqueous solution of 

C. a molten mixture of  and 

D. a molten mixture of  and ,

Answer: C

Watch Video Solution

Al(OH)3

Al2(SO4)4

Al2O3 Na3AIF6

Al2O3 Al(OH)3

https://dl.doubtnut.com/l/_1TQhZyXl1G5h
https://dl.doubtnut.com/l/_o14md4gAfJY8


13. What is the effect of adding a catalyst on 

(a) Activation energy (Ea), and 

(b) Gibbs energy ( ) of a reaction?

A. 

B. 1

C. 

D. 0

Answer: D

Watch Video Solution

ΔG

> 1

< 0

14. निम्नलिखित में से कोनसा कथन सही है----

https://dl.doubtnut.com/l/_0XnwQ9F7yS1c
https://dl.doubtnut.com/l/_MY3HvMHtGG07


A. The rate of reaction cannot be understood from

Ellinghamn diagram

B. During the formation of metal oxide  becomes

negative and  becomes positive resulting in

positive slope

C. There is an abrupt change in the slope of Ellingham

line when change in phase ( ) or ( ) takes

place

D. all the above

Answer: D

Watch Video Solution

ΔS

ΔG

s → l l → g

https://dl.doubtnut.com/l/_MY3HvMHtGG07
https://dl.doubtnut.com/l/_msd7jMpES8WW


15. Correct statements form the graph 

 


I) Above 1073K,  for the formation of  is less

negative than  for the formation of CO from carbon 

II) Above 1073K, Carbon can reduce  

III) Below 1073K, CO can reduce  

IV) In blast furnace, reduction of  occurs in different

temperature ranges with below 1073K by CO (or) above

1073K by carbon

A. Only I

B. I, II only

ΔG0 Fe2O3

ΔG0

Fe2O3

Fe2O3

Fe2O3

https://dl.doubtnut.com/l/_msd7jMpES8WW


Exercise 2 Refining Of Metals And Uses

C. I, II, III only

D. All

Answer: D

View Text Solution

1. The metal for which, its property of formation of volatile

complex is taken into accoutn for its purificaiton is:

A. cobalt

B. nickel

C. vanadium

https://dl.doubtnut.com/l/_msd7jMpES8WW
https://dl.doubtnut.com/l/_ZYLkIKTjNC3w


D. iron

Answer: B

Watch Video Solution

2. Zone refining is based on the principle that

A. impurities of low boliling metals can be separated by

distillation

B. different components of a mixture are differently

adsorbed on an adsorbent

C. impurities are more soluble in molten metal than in

solid metal

https://dl.doubtnut.com/l/_ZYLkIKTjNC3w
https://dl.doubtnut.com/l/_ppmwposnCVWY


D. vapours of volatile compound can be decomposed in

pure metal

Answer: C

Watch Video Solution

3. Which method of purification is represented by the

following equation. 

A. Van Arkel process

B. Zone refining

C. Cupellation

D. Mond's process

Ni + 4CO
70 ∘ C

−−−−−→
Δ

Ni(CO4)
180 ∘ C

−−−−−→
Δ

Ni + 4CO

https://dl.doubtnut.com/l/_ppmwposnCVWY
https://dl.doubtnut.com/l/_WtgiNLSkf0kq


Answer: D

Watch Video Solution

4. During the process of electrolyic refining of copper some

metals present as impurity settle as anode mud. These are

A. Sn and Ag

B. Ag and Au

C. Ph and Zn

D. Fe and Ni

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WtgiNLSkf0kq
https://dl.doubtnut.com/l/_rZerrGLBrwXB


5. poling process is used for

A. for the removal of  from Cu

B. for the removal of  from Al

C. for the removal of  from Fe

D. all of the above

Answer: A

Watch Video Solution

Cu2O

Fe2O3

Fe2O3

6. Which one of the following is not an ore of aluminium ?

A. Mangalium

B. Duralumin

https://dl.doubtnut.com/l/_d7RphIRB5gpq
https://dl.doubtnut.com/l/_D5Jju0WQHucF


Exercise Ii Home Work

C. German silver

D. Aluminium bronze

Answer: C

Watch Video Solution

1. Cassiterite is an ore of

A. Mn

B. Ni

C. Sb

D. Sn

https://dl.doubtnut.com/l/_D5Jju0WQHucF
https://dl.doubtnut.com/l/_NCazvlKWnReF


Answer: D

Watch Video Solution

2. Galena is an ore of

A. Pb

B. Hg

C. Sn

D. Zn

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NCazvlKWnReF
https://dl.doubtnut.com/l/_XHzauguKHCip
https://dl.doubtnut.com/l/_zYrBuglYyOxg


3. The metal always found in the free state is

A. Au

B. Ag

C. Cu

D. Na

Answer: A

Watch Video Solution

4. Pyrolusite is

A. Oxide

B. Sulphide ore

https://dl.doubtnut.com/l/_zYrBuglYyOxg
https://dl.doubtnut.com/l/_rW0GPKUV3w38


C. Carbide ore

D. Not an ore

Answer: A

Watch Video Solution

5. Among the following, the incorrect statement is :

A. argentite and cuprite are oxide ores

B. calamine and azurite are carbonates

C. zinc blende and pyrites are sulphides

D. malachite and azurite are minerals of copper

Answer: A

https://dl.doubtnut.com/l/_rW0GPKUV3w38
https://dl.doubtnut.com/l/_Wru7B8lZEErL


Watch Video Solution

6. The chief impurity present in bauxite is

A. 

B. 

C. 

D. NaF

Answer: C

Watch Video Solution

SiO2

K2SO4

Fe2O3

https://dl.doubtnut.com/l/_Wru7B8lZEErL
https://dl.doubtnut.com/l/_h2iA8oEURjC6


7. Which of the following minerals does not contain

aluminium ?

A. Cryolite

B. Mica

C. Feldspar

D. Fluorspar

Answer: D

Watch Video Solution

8. A mineral is called an ore if :

A. The metal present in the ore is costly

https://dl.doubtnut.com/l/_PQG4RdxhrFXf
https://dl.doubtnut.com/l/_faW6bgN9sHRZ


B. a metal can be extracted from it

C. a metal can be extracted conveniently and

cconomically from it

D. a metal cannot be extracted from it

Answer: C

Watch Video Solution

9. the common impurities present in bauxite are

A.  and CuO

B.  and PbO

C.  and 

Fe2O3

Fe2O3

Fe2O3 SiO2

https://dl.doubtnut.com/l/_faW6bgN9sHRZ
https://dl.doubtnut.com/l/_s4BW41N1FPqC


Exercise Ii Concentration Ofores

D.  and CuO

Answer: C

Watch Video Solution

SiO2

1. Froth floatation process is used for the concentration of

A. Oxide ores

B. Sulphide ores

C. CHloride ores

D. Amalgams

https://dl.doubtnut.com/l/_s4BW41N1FPqC
https://dl.doubtnut.com/l/_OBPujlQbvAgE


Answer: B

Watch Video Solution

2. In metallurgical processes the flux used for removing

acidic impurities is

A. Silica

B. Sodium chloride

C. Lime stone

D. Sodium carbonate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OBPujlQbvAgE
https://dl.doubtnut.com/l/_HuRHsgANm9gj


3. (g) An ore of tin containing  is concentrated by

____.

A. Magnetic separation

B. Froth floatation

C. Electrostatic method

D. Gravity separation

Answer: A

Watch Video Solution

FeCrO4

4. Noble metal(s) which are commerically extracted by

cyanide process is(are) :

https://dl.doubtnut.com/l/_NsLzOwmZTiXq
https://dl.doubtnut.com/l/_TwPOR0GQsp5L


A. Silver

B. Copper

C. Iron

D. Sodium/Aluminium

Answer: A

Watch Video Solution

5. Which one of the following ores is not concentrated by

froth floatation process ?

A. Copper pyrites

B. Pentlandita

https://dl.doubtnut.com/l/_TwPOR0GQsp5L
https://dl.doubtnut.com/l/_GxRmpz5qcQx4


C. Pyrolusite

D. Zinc blende

Answer: C

Watch Video Solution

6. Extraction of gold and silver involves leaching the metal

with  ion. The metal is recovered by :

A. roasting of metal complex

B. calcination followed by roasting

C. thermal decomposition of metal complex

CN −

https://dl.doubtnut.com/l/_GxRmpz5qcQx4
https://dl.doubtnut.com/l/_94XOWzDtqFhU


Exercise Ii Extraction Of Metals

D. displacement of metal by some other metal from the

complex ion

Answer: D

Watch Video Solution

1. In the extraction of copper from copper pyrites, iron is

removed as :

A. 

B. 

C. 

FeSO4

FeSiO3

Fe3O4

https://dl.doubtnut.com/l/_94XOWzDtqFhU
https://dl.doubtnut.com/l/_PgZdrPz28b9C


D. 

Answer: B

Watch Video Solution

Fe2O3

2. Which of the following has lowest percentage of carbon?

A. Cast iron

B. Wrought iron

C. Steel

D. All have same percentage

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PgZdrPz28b9C
https://dl.doubtnut.com/l/_JRqG2FaYwOf0


3. The function of fluorspar in the electrolytic reduction of

alumnia dissolved in fused cryotile  is:

A. as a catalyst

B. to lower the temperature of melt and to make the

fused mixture very conducting

C. to decrease the rate of oxidation of carbon anode

D. none of the above

Answer: B

Watch Video Solution

(Na3AlF6)

https://dl.doubtnut.com/l/_JRqG2FaYwOf0
https://dl.doubtnut.com/l/_xGlTfMUi91RT


4. Wrought iron is the purest form of iron. Write a reation

used for the preparation of wrought iron from cast iron.

How can the impurities of sulphur, silicon and phosphorus

be removed from cast iron?

A. carbon which reduces the impurities

B. water which dissolves the impurities

C. limestone which changes impurities into oxides and

pass into slag on heating

D. Iron oxide which reacts with impurities on heating by

forming slag

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fRyy2bzEvP5Z


5. Belgian process is used for the extraction of

A. alkali metals

B. alkaline earth metals

C. aluminium

D. all of these

Answer: D

Watch Video Solution

6. Which of the following reactions occurs during

calcination ?

https://dl.doubtnut.com/l/_fRyy2bzEvP5Z
https://dl.doubtnut.com/l/_r0l6bKYy3TfP
https://dl.doubtnut.com/l/_qvfue3HDGKko


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaCO3 → CaO + CO2

4FeS2 + 11O2 → 2Fe2O3 + 8SO2

2Al(OH)3 → Al2O3 + 3H2O

Cu2S + 2CuO → 4Cu + SO2

7. According to Ellingham diagram the oxidation reaction

of carbon and carbon monoxide may be used to reduce

which one of the following oxides at the lowest

temperature?

A. Al2O3

https://dl.doubtnut.com/l/_qvfue3HDGKko
https://dl.doubtnut.com/l/_xJkOqhzmoQEj


B. 

C. MgO

D. ZnO

Answer: B

Watch Video Solution

Cu2O

8. The chemical reaction involved in the corrosion of iron

metal is that of:

A. 

B. 

C. 

Fe2O3 + 3CO → 2Fe + 3CO2

2Al + Fe2O3 → 2Fe + Al2O3

2ZnS + 3O2 → 2ZnO + 3SO2

https://dl.doubtnut.com/l/_xJkOqhzmoQEj
https://dl.doubtnut.com/l/_UlAKlpGoy8tx


D. 

Answer: C

Watch Video Solution

FeO + SiO2 → FeSiO3

9. When copper pyrites is roasted in excess of air, a mixture

of  is formed.  is present as impurity. This

can be removed as slag during reduction of . The flux

added to form slag is

A. silica, which is an acidic flux

B. limestone, which is a basic flux

C. , which is a basic flux

D. CaO, which is a basic flux

CuO + FeO FeO

CuO

SiO2

https://dl.doubtnut.com/l/_UlAKlpGoy8tx
https://dl.doubtnut.com/l/_mpaDWJ2QzotP


Answer: A

Watch Video Solution

10. Roasting of copper pyrites is done:

A. to remove moisture and volatile impurities

B. to oxidise free sulphur

C. lo decompose pyrites into  and FeS

D. all of the above

Answer: D

Watch Video Solution

Cu2S

https://dl.doubtnut.com/l/_mpaDWJ2QzotP
https://dl.doubtnut.com/l/_cEbPo5XTDJgz
https://dl.doubtnut.com/l/_lwfIVy7moYHu


11. Extraction of zinc from zinc blende is achieved by:

A. electrolytic reduction

B. roasting followed by reduction with carbon

C. roasting followed by reduction with another metal

D. roasting followed by self reduction

Answer: B

Watch Video Solution

12. In which of the following pair of metals, both are

commercially extracted from their respective ores by

carbon reduction method ?

A. Zn, Cu

https://dl.doubtnut.com/l/_lwfIVy7moYHu
https://dl.doubtnut.com/l/_vTWVVVS1VuGX


B. Fe, Cu

C. Sn, Zn

D. Al, Ag

Answer: C

Watch Video Solution

13. What type of ores can be concentrated by magnetic

separation method ?

A. wolframite

B. haematite

C. cassiterite

https://dl.doubtnut.com/l/_vTWVVVS1VuGX
https://dl.doubtnut.com/l/_tpb7QxqvXLLC


D. all of these

Answer: D

Watch Video Solution

14. In Goldschmidt aluminothermic process, thermite

mixture contains:

A. 3 parts Fe, O, and 2 parts Al

B. 3 parts Al, O, and 4 parts Al

C. 1 part Fe, O, and 1 part Al

D. 3 parts FeO, and 1 part Al

Answer: D

https://dl.doubtnut.com/l/_tpb7QxqvXLLC
https://dl.doubtnut.com/l/_p8gIIL8DwAdU


Watch Video Solution

15. Ellingham diagram is given below for the formation of

some oxides. Then select the correct combination 

A. Below 

T2Al2O3 + 3Mg → 3MgO + 2Al, ΔG = − ve

https://dl.doubtnut.com/l/_p8gIIL8DwAdU
https://dl.doubtnut.com/l/_LwSbFBXPpNNI


Exercise Ii Refining Of Metals And Uses

B. Below 

C. Below 

D. all of the above

Answer: A

View Text Solution

T3MgO + CO → CO2 + Mg, ΔG = − ve

T3MgO + CO → CO2 + Mg, ΔG = − ve

1. The common metal present in german silver, bell metal

and brass is

https://dl.doubtnut.com/l/_LwSbFBXPpNNI
https://dl.doubtnut.com/l/_2mHJp4RhgZF5


A. Cu

B. Mg

C. Al

D. Zn

Answer: A

Watch Video Solution

2. Which method of purification is represented by the

following equations 

A. Cupellation

B. poling

T i + 2I2

523K
−−→ T iI4

1700K
−−−→ T i + 2I2

https://dl.doubtnut.com/l/_2mHJp4RhgZF5
https://dl.doubtnut.com/l/_5sheWQmXDCb9


C. Van Arkel process

D. zone refining

Answer: C

Watch Video Solution

3. German silver is an alloy of copper and:

A. Brass

B. Bronze

C. German silver

D. Invar

Answer: D

https://dl.doubtnut.com/l/_5sheWQmXDCb9
https://dl.doubtnut.com/l/_J5v2QuY9ZtmP


Watch Video Solution

4. Blister copper is

A. bessemerisation

B. roasting

C. poling

D. refining

Answer: C

Watch Video Solution

5. In the electrolytic refining of zinc,

https://dl.doubtnut.com/l/_J5v2QuY9ZtmP
https://dl.doubtnut.com/l/_SRtj5ATdB5JG
https://dl.doubtnut.com/l/_53YYr9s01eef


Exercise Iii

A. graphite is at the anode

B. the impure metal is at the cathod

C. the metal ion gets reduced at the anode

D. acidified zinc sulphate is the electrolyte

Answer: D

Watch Video Solution

1. Sulphide ores of metals are usually concentrated by both

floatation process. Which of the following sulphide ores

https://dl.doubtnut.com/l/_53YYr9s01eef
https://dl.doubtnut.com/l/_0oVbtvZ1qivI


offers an exception and is concentrated by chemical

leaching ?

A. Gelena

B. Argentite

C. Copper pyrites

D. Sphalerite

Answer: B

Watch Video Solution

2. Among the metals , and , the

one that cannot be obtained by reduction of metal oxide

by aluminium is

Cr, Fe, Mn, T i, Ba Mg

https://dl.doubtnut.com/l/_0oVbtvZ1qivI
https://dl.doubtnut.com/l/_DuTwdKvgOmSn


A. Cr

B. Fe

C. Ba

D. Mg

Answer: D

Watch Video Solution

3. Which of the following is/are manufactured by the

electrolysis of their fused salts?

A. Na

B. Mg

https://dl.doubtnut.com/l/_DuTwdKvgOmSn
https://dl.doubtnut.com/l/_Tlrusl99SzmO


C. Al

D. Fe

Answer: D

Watch Video Solution

4. The method not used in metallurgy to refine impure

metal is :

A. Mond's process

B. Van Arkel process

C. Amalgamation process

D. Liquidation process

https://dl.doubtnut.com/l/_Tlrusl99SzmO
https://dl.doubtnut.com/l/_NiwimiNJDW4x


Answer: C

Watch Video Solution

5. Auto-reduction process is used for the extraction of :

A. Cu

B. Hg

C. PbS forms soluble complex, 

D. All of these

Answer: D

Watch Video Solution

Na2Zn(CN)4

https://dl.doubtnut.com/l/_NiwimiNJDW4x
https://dl.doubtnut.com/l/_ff6YQh8L9zzI
https://dl.doubtnut.com/l/_zDLa6ffzXk2o


6. The chemical reagent used for leaching of gold and silver

ores is

A. NaCN

B. NaCN in presence of 

C. NaCl

D. 

Answer: B

Watch Video Solution

O2

AgNO3

7. Blister copper is

A. Impure copper

https://dl.doubtnut.com/l/_zDLa6ffzXk2o
https://dl.doubtnut.com/l/_EkTJ3rHflsrY


B. Copper alloy

C. Pure copper

D. Copper having 2% impurity

Answer: D

Watch Video Solution

8. Which of the following is not correct ?

A. Al reacts with NaOH and liberates H,

B.  is a Lew is acid

C. Al is used in the manufacture of electrical cables

AICI3

https://dl.doubtnut.com/l/_EkTJ3rHflsrY
https://dl.doubtnut.com/l/_Evg7s5ULhmEJ


D. NaOH is used during Hall's process of purification of

bauxite

Answer: D

Watch Video Solution

9. One of the consituents of German silver is

A. Cu+Sn+Ni

B. Cu+Sn

C. Cu+Zn

D. Cu+Zn+Ni

Answer: D

https://dl.doubtnut.com/l/_Evg7s5ULhmEJ
https://dl.doubtnut.com/l/_ulKoc3qvS7tz


Watch Video Solution

10. Corundum is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Al2O3

NaNO3

B4C

Na3AIF6

11. Purest form of iron is

https://dl.doubtnut.com/l/_ulKoc3qvS7tz
https://dl.doubtnut.com/l/_YpoOz7UPMj4z
https://dl.doubtnut.com/l/_B4aLUn0xl9p8


A. Wrought iron

B. Steel

C. White cast iron

D. grey cast iron

Answer: A

Watch Video Solution

12. Flux used in the smelting of copper arc is:

A. decrease the solubility of impurities

B. increase the fusion temperature of the roasted ore

C. convert impurities into slag

https://dl.doubtnut.com/l/_B4aLUn0xl9p8
https://dl.doubtnut.com/l/_MwJ2jbNr46kX


D. all of the above

Answer: C

Watch Video Solution

13. Which metal is refined by Mond's process?

A. zinc

B. blister copper

C. sodium

D. silver

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MwJ2jbNr46kX
https://dl.doubtnut.com/l/_lLv55OVco4tr


14. The form of iron obtained from blast furnace is:

A. pig iron

B. cast iron

C. wrought iron

D. steel

Answer: A

Watch Video Solution

15. Aluminium is extracted from Alumina (  ) by

electrolysis of a molten mixture of

Al2O3

https://dl.doubtnut.com/l/_lLv55OVco4tr
https://dl.doubtnut.com/l/_rjmpukEnh9bj
https://dl.doubtnut.com/l/_jeTgxRabdiM4


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Al2O3 + HF + NaAIF4

Al2O3 + CaF2 + NaAIF4

Al2O3 + Na3AIF6 + CaF2

Al2O3 + KF + Na3AIF6

16. In the exteraction of copper from its sulphide ore, the

metal is fanally obtained by the reduction of caprous oxide

with

A. copper (I) sulphide ( )

B. sulphur dioxide ( )

Cu2S

SO2

https://dl.doubtnut.com/l/_jeTgxRabdiM4
https://dl.doubtnut.com/l/_qJdk9IQSPwim


C. iron sulphide

D. carbon monoxide

Answer: A

Watch Video Solution

17. Identify the alloy containing a non metal as a

constituent in it

A. invar

B. steel

C. bell metal

D. bronze

https://dl.doubtnut.com/l/_qJdk9IQSPwim
https://dl.doubtnut.com/l/_TPA9yYvGR7Cw


Answer: B

Watch Video Solution

18. Which ore of the following is a mineral of iron ?

A. Malachite

B. steel

C. bell metal

D. magnetite

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_TPA9yYvGR7Cw
https://dl.doubtnut.com/l/_dLpcIRWFf4P9
https://dl.doubtnut.com/l/_xWGky5MCKE42


19. Which one of the following is not a sulphide ore ?

A. magnetite

B. iron pyrite

C. copper glance

D. sphalerite

Answer: A

Watch Video Solution

20. High purity copper is obtained by

A. liquation

B. vapour phase refining

https://dl.doubtnut.com/l/_xWGky5MCKE42
https://dl.doubtnut.com/l/_LpClvgDivb33


C. distillation

D. zone refining

Answer: D

Watch Video Solution

21. Roasting of sulphides gives the gas X as a by product.

This is a colourless gas with choking smell of burnt sulphur

and causes great damage to repiratory organs as a result

of acid rain. Its aqueous solution is acidic, acts as reducing

agent and its acid has never been isolated. The gas X is :-

A. 

B. 

SO2

CO2

https://dl.doubtnut.com/l/_LpClvgDivb33
https://dl.doubtnut.com/l/_nVBFAIYTYFIx


C. 

D. 

Answer: A

Watch Video Solution

SO3

H2S

22. The process of zone refining is used in the purification

of :

A. Al

B. Ge

C. Cu

D. H2S

https://dl.doubtnut.com/l/_nVBFAIYTYFIx
https://dl.doubtnut.com/l/_6QUFo9xjxOpR


Answer: B

Watch Video Solution

23. Amongest the following , how many ores can be

concentrated by froth flotation process : 

Galena, sphalerit, cassiterite, calamine, chalcocite,

haematite, argentite.

A. gravity separation

B. froth flatation

C. magnetic separation

D. hydraulic washing

Answer: B

https://dl.doubtnut.com/l/_6QUFo9xjxOpR
https://dl.doubtnut.com/l/_CeonIR88QZrV


Watch Video Solution

24. Which method of purification is represented by the

following equations 

A. distillation

B. liquation

C. hall-heroult method

D. van Arkel method

Answer: D

Watch Video Solution

T i + 2I2

523K
−−→ T iI4

1700K
−−−→ T i + 2I2

https://dl.doubtnut.com/l/_CeonIR88QZrV
https://dl.doubtnut.com/l/_T4sipARmHa2w
https://dl.doubtnut.com/l/_E4ibYoXbcspK


25. The statement that is not correct is

A. a furnace lined with Haematite is used to convert

cast iron to wrought iron

B. collectors enhance the wettability of mineral

particles during froth floatation

C. in vapour phase refining, metal should form a volatile

compound

D. copper from its low grade ores is extracted by

hydrometallurgy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_E4ibYoXbcspK
https://dl.doubtnut.com/l/_rwzvwY8TLu3E


26. 'Metals are usually not found as nitrates in their ores''.

Out of the following two (I ) reasons which is//are

true for the above obervation? 

.Metal nitrates are highly unstable. 


 Metal nitrates are highly soluble in water.

A. I is false but II is true

B. I is true but II is false

C. I and II are true

D. I and II are false

Answer: A

Watch Video Solution

and II

I

II.

https://dl.doubtnut.com/l/_rwzvwY8TLu3E


27. Cryolite is

A.  and is used in the electrolysis of alumina

for lowering the melting point of alumina only

B.  and is used in the electrolytic refining of

alumina

C.  and is used in the electrolysis of alumina

for decreasing electrical conductivity

D.  and is used in the electrolysis of alumina

for lowering the melting point and increasing

electrical conductivity of alumina

Answer: D

W t h Vid S l ti

Na3AIF6

Na3AIF6

Na3AIF6

Na3AIF6

https://dl.doubtnut.com/l/_qNH7IdJ3slXp


Watch Video Solution

28. Copper Matte is extracted from copper pyrites ore by

heating it in blast furnace. The method is based on the

principle that:

A. iron has less affinity for oxygen than sulphur at high

temperature

B. sulphur has less affinity for oxygen at high

temperature

C. copper has more affinity for oxygen than sulphur at

high temperature

D. copper has less affinity for oxygen than sulphur at

high temperature

https://dl.doubtnut.com/l/_qNH7IdJ3slXp
https://dl.doubtnut.com/l/_8uzcROkAaEuJ


Answer: D

Watch Video Solution

29. In the exteraction of copper from its sulphide ore, the

metal is fanally obtained by the reduction of caprous oxide

with

A. carbon monoxide

B. copper (1) sulphide

C. sulphur dioxide

D. Iron sulphide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8uzcROkAaEuJ
https://dl.doubtnut.com/l/_qeytfLGsLYOZ


30. 'Metals are usually not found as nitrates in their ores''.

Out of the following two (I ) reasons which is//are

true for the above obervation? 

.Metal nitrates are highly unstable. 


 Metal nitrates are highly soluble in water.

A. a and b are false

B. a is false but b is true

C. a is true but b is false

D. a and b are true

Answer: B

Watch Video Solution

and II

I

II.

https://dl.doubtnut.com/l/_qeytfLGsLYOZ
https://dl.doubtnut.com/l/_EtWnsXhtIz21


Exercise 4

31. Match the following 

View Text Solution

1. Zone refining is based on the principle that

https://dl.doubtnut.com/l/_KicdqBkCFLXw
https://dl.doubtnut.com/l/_RontKEhLiEdR


A. impurities of low boiling metals can be separated by

distillation

B. different components of a mixture are differently

adsorbed on an adsorbent

C. impurities are more soluble in molten metal than in

solid metal

D. vapours of volatile compound can be decomposed in

pure metal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_RontKEhLiEdR


2. Extraction of gold and silver involves leaching the metal

with  ion. The metal is recovered by

A. roasting of metal complex

B. calcination followed by roasting

C. thermal decomposition of metal complex

D. displacement of metal by some other metal from the

complex ion

Answer: D

View Text Solution

CN −

https://dl.doubtnut.com/l/_F2D0Fsslr8j9


3. In the extraction of Cu from its sulphide ore, the metal is

formed by reduction of  with

A. 

B. FeS

C. CO

D. 

Answer: A

Watch Video Solution

Cu2O

Cu2S

SO2

4. When copper ore is mixed with silica in a reverberatory

furnace, copper matte is produced. The copper matter

https://dl.doubtnut.com/l/_FxE5hNxR2UsB
https://dl.doubtnut.com/l/_6qTlpQItTeAK


contains__________

A. Sulphides of copper (II) and iron (II)

B. sulphides ofCopper (I) and iron (II)

C. sulphides of copper (II) and iron (III)

D. sulphides of copper (I) and iron (III)

Answer: B

Watch Video Solution

5. Electrolytic refining's is ued to purify which of the

following metals?

A. Ge and Si

https://dl.doubtnut.com/l/_6qTlpQItTeAK
https://dl.doubtnut.com/l/_yTOA3wzh940x


B. Zr and Ti

C. Cu and Zn

D. Zn and Hg

Answer: C

Watch Video Solution

6. In the extraction of chlorine by electrolysis of

brine_________.

A. oxidation of  ion to chlorine gas occurs

B. reduction of Clion to chlorine gas occurs

C. for overall reaction  has negative value

Cl−

ΔG0

https://dl.doubtnut.com/l/_yTOA3wzh940x
https://dl.doubtnut.com/l/_APKOKAJStitg


D. a displacement reaction takes place

Answer: A

Watch Video Solution

7. Which one of the following reactions is an example of

auto-reduction?

A. 

B. 

C. 

D. 

Answer: D

Fe3O4 + 4CO → 3Fe + 4CO2

Cu2O + C → 2Cu + CO

Cu2 + (aq) + Fe(s) → Cu(s) + Fe2 + (aq)

Cu2O + Cu2S → 3Cu + SO2

1

2

1

2

https://dl.doubtnut.com/l/_APKOKAJStitg
https://dl.doubtnut.com/l/_VMkdKQLojk9Q


Watch Video Solution

8. In the metallurgy of aluminium,

A.  is oxidised to Al(s)

B. graphite anode is oxidised to CO and 

C. oxidation state of oxygen changes in the reaction at

anode

D. oxidation state of oxygen changes in the overall

reaction involved in the process

Answer: B

Watch Video Solution

Al3 +

CO2

https://dl.doubtnut.com/l/_VMkdKQLojk9Q
https://dl.doubtnut.com/l/_J9L72B3pGIlX


Exercise 4 Matching Type

1. Match List I with List II and select the correct answer

using the codes given below the lists 

A. 1-(c), II(a), III-d), IV-(b)

B. 1-(d), II(b), III-(C), IV-a)

C. I-(C), II(6), III-(d), IV-a)

D. I-(d), Il(a), III-(C), IV-(b)

https://dl.doubtnut.com/l/_t9EfTCeBfvSN


Answer: B

View Text Solution

2. Match List-I with List-II and select the correct answer

using the codes given below 

View Text Solution

https://dl.doubtnut.com/l/_t9EfTCeBfvSN
https://dl.doubtnut.com/l/_tsjOX0dYd58T
https://dl.doubtnut.com/l/_Cn39mndUvyv9


3. Match List-I with List-II and select the correct answer

using the codes given below 

 


View Text Solution

https://dl.doubtnut.com/l/_Cn39mndUvyv9


4. match the following 

View Text Solution

5. Match List-I with List-II and select the correct answer

using the codes given below 

https://dl.doubtnut.com/l/_ETPmNJPyaWtE
https://dl.doubtnut.com/l/_cut6IV4buQde


Statement Type Questoins

View Text Solution

1. Assertion: All minerals are ore. 

Reason: Ores are minerals from which metal can be

extracted conveniently and economically.

https://dl.doubtnut.com/l/_cut6IV4buQde
https://dl.doubtnut.com/l/_9JsHhtvn1yxQ


A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: D

Watch Video Solution

2. Metals of high purity are obtained by zone refining. 

Impurities are more soluble in melt in pure metal.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

https://dl.doubtnut.com/l/_9JsHhtvn1yxQ
https://dl.doubtnut.com/l/_XCdvUkx42fte


C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

3. (A) Au,Pt,Ag etc are found in free state 

(R ) The metals which are noble and chemically less reactive

are found in free state

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

https://dl.doubtnut.com/l/_XCdvUkx42fte
https://dl.doubtnut.com/l/_2F4UGXxbvQRT


Answer: A

Watch Video Solution

4. (A) Roasting is a process in which the ore is heate in

presence of air 

(R ) Concentration of sulphide ore is done by calcinaiton

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2F4UGXxbvQRT
https://dl.doubtnut.com/l/_DjIbb8Ea8WdK


5. During the electrolysis of aqueous sodium chloride the

cathodic reaction is

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DjIbb8Ea8WdK
https://dl.doubtnut.com/l/_PVKtOJUVdBE1


6. The ore that is concentrated by froth floatation process

is

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

7. Assertion:  and  are extracted by leaching the ores

with a dilute solution of . 


Ag Au

NaCN

https://dl.doubtnut.com/l/_hiEC1WyM0dpZ
https://dl.doubtnut.com/l/_u4aGiPcztivK


Reason: Impurities associated with these ores dissolve in

.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

NaCN

8. (A) Alumina has hgih condutivity 

(R ) The mixture of alumia and cryolite is used for

electrolytic reduction in order to extract aluminium

https://dl.doubtnut.com/l/_u4aGiPcztivK
https://dl.doubtnut.com/l/_4UbF1z6JBkY3


A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: D

Watch Video Solution

9. What is the percentage of carbon in pig iron and cast

iron ?

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

https://dl.doubtnut.com/l/_4UbF1z6JBkY3
https://dl.doubtnut.com/l/_6b8s9x0MEMvz


C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: B

Watch Video Solution

10. Steel contains more carbon than wrought iron

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: B

https://dl.doubtnut.com/l/_6b8s9x0MEMvz
https://dl.doubtnut.com/l/_A2MR8uuEHpRJ


Watch Video Solution

11. Aluminium metal is generally used for the extraction of

chromium and manganese from their oxide ores. Explain.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_A2MR8uuEHpRJ
https://dl.doubtnut.com/l/_aAqSkWRmhXvl


12. Statement-1:Electrolytic reduction of alumina to

aluminium by Hall-Heroult process is carried in the

presence of cryolite. 

Statement-2:Cryolite contains aluminium.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VcF5uVPXS2bc


13. In Froth floatation process for, pine oil functions oil

functions as:

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

14. Silver is refined by cupellation process, the process

removes the impurity of:

https://dl.doubtnut.com/l/_VlbPehRUydza
https://dl.doubtnut.com/l/_BT9CXQFPLsVs


A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

15. Statement-1:Magnesia and quick lime are used as basic

flux. 

Statement-2:MgO and CaO can withstand very high

temperatures.

A. S-I and S-II are true and S-II explains S-I

https://dl.doubtnut.com/l/_BT9CXQFPLsVs
https://dl.doubtnut.com/l/_2xxDbvBWn5Mh


B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

16. The ore that is concentrated by froth floatation process

is

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

https://dl.doubtnut.com/l/_2xxDbvBWn5Mh
https://dl.doubtnut.com/l/_wZn18iGVZJdt


D. S-I is false S-II is true

Answer: C

Watch Video Solution

17. Assertion : Nickel can be purified by Mond process. 

Reason :  is a volatile compound which

deomposed at  to give pure .

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Ni(CO)4

460K Ni

https://dl.doubtnut.com/l/_wZn18iGVZJdt
https://dl.doubtnut.com/l/_17qNl4zt3bcC


Answer: A

Watch Video Solution

18. Zinc is used to protect corrosion of iron because

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_17qNl4zt3bcC
https://dl.doubtnut.com/l/_1Bm9rO869fLc
https://dl.doubtnut.com/l/_7BHYMkZrHqb9


19. Cinnabar (HgS) and galena (PbS) on roasting give their

respective metals but zinc blende does not. Explain.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: A

Watch Video Solution

20. Statement-1: Silicones are used as high class industrial

insulators. 

https://dl.doubtnut.com/l/_7BHYMkZrHqb9
https://dl.doubtnut.com/l/_l6DnDTKemNkC


Statement-2: Silicones are large covalent solids so bad

conductors of electricity.

A. S-I and S-II are true and S-II explains S-I

B. S-I and S-II are true and S-II does not explains S-I

C. S-I is true S-II is false

D. S-I is false S-II is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_l6DnDTKemNkC

